Year 1 Maths Multiplication Outcome Problems

| forgot that we will need decorations and things to eat our food off of like plates! | need your help to
solve the problems to find out how many of each item | might need to buy.

If bought 5 packets of balloons and there are 5 balloons in a packet. How many would | buy
altogether?

If bought 2 packets of balloons and there are 10 balloons in a packet. How many would | buy
altogether?

If bought 3 packets of plates and there are 10 plates in a packet. How many would | buy
altogether?

If bought 8 packets of plates and there are 2 plates in a packet. How many would | buy
altogether?

If bought 10 packets of cups and there are 5 cups in a packet. How many would | buy
altogether?

If bought 6 packets of cups and there are 2 cups in a packet. How many would | buy
altogether?



If bought 4 packets of straws and there are 10 straws in a packet. How many would | buy
altogether?

If bought 8 packets of straws and there are 5 straws in a packet. How many would | buy
altogether?

If bought 4 packets of napkins and there are 5 napkins in a packet. How many would | buy
altogether?

If bought 6 packets of napkins and there are 5 napkins in a packet. How many would | buy
altogether?



